Whitman College

Econ 407

Exam 2

April 18, 2005

Write all answers in your blue book.  Show all of your work.

1.  By 1980, half of the banks in the Savings and Loan industry had become insolvent because of unanticipated increases in interest rates.   

(a)  (5pts)  Define insolvent.

(b)  (5pts)  Describe how the unanticipated increases in interest rates in the late 1970’s affected the value of the home mortgage loans held by Savings and Loan banks. 

(c)  (5pts)  In 1980, a typical Savings and Loan bank held home mortgage loans that would pay off within 1-30 years.   A typical commercial bank held business loans that would pay off within 1-5 years.  Use this information to explain why unanticipated interest rate increases in the late 1970’s made a Savings and Loan bank more likely than a commercial bank to have become insolvent by 1980.

2.   (15pts)  Describe the role the discount rate currently plays in monetary policy.  In your explanation, refer to a graph of the supply and demand for overnight loans between banks in the federal funds market.  

3.   Suppose that you have been asked to be an economic adviser to Country X.  This country is considering adopting an inflation targeting policy. 

(a)  (20pts)  Suppose that you are preparing for your first meeting with the policy-makers in Country X.  Write a set of questions whose answers would help you determine whether to recommend that this country adopt inflation targeting.   For each of your questions, explain how the answer would affect your recommendation.   

(b)  (15pts)  Suppose now that the central bank of Country X asks you to describe a version of the Taylor Rule which they could use to implement inflation targeting. They have a dual mandate to stabilize the price level and to stabilize fluctuations in real aggregate output.  Their central bank gives the price-stabilization mandate twice the weight of the output-stabilization mandate.  Write the equation for their version of the Taylor Rule, and explain in words the meaning of each element of the equation.

4.  Consider the following information about a hypothetical economy.  Between 1990 and 2004 the average annual rate of growth of real output was 2.4%, the money supply grew at an average annual rate of 5.8%, and the average annual nominal interest rate was 5.7%.  

(a)  (15pts)  Assume the Classical Quantity Theory (CQT) of money holds.  What was the average annual real interest rate over this period?  

(b)  (5pts)  Why does the CQT predict average inflation rates fairly well over the course of fourteen years, yet not be able to predict the inflation rate over the course of a single year?  

5.  Consider the Keynesian AS-AD sticky wage model.  

(a)  (5pts)  On  an AS-AD graph, show the situation facing the U.S. economy if it is initially operating at a level of output slightly above potential real Gross Domestic Product.  On your graph, indicate what happens to real aggregate output and to the price level in the event of a large increase in the price of oil.  

(b)  (10pts)  In the context of the Keynesian sticky wage model, what would you recommend the Federal Reserve do in response to the oil price shock you graphed in Part (a)?  Explain your reasoning.  

